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1 kaacebl
Pyccxnit 361K 1,0 |5 0 0 1,0] 1 2
JIuTepaTypHOE YTEHHE 0 0 0 1,0 1 1
MareMaTHKa 10| 1 0 0 1,0 1 2
Oxpy>KalouIii MHP 0 0 0 1,0 1 1
TeXHOMOTH 0 0 0 0 0
H306pa3uTensHoe 0 0 0 0 0
HCKYCCTBO
My3sika 0 0 0 0
dusngeckas KynpTypa 0 0 0 0
2 Kyacenl
Pyccxuit A3b1K 1,0 1,0 1 1,0 1 2,01 2 5
JIuTepaTypHOE YTEHHE 0 0 1,0 1 T
VIHOCTpaHHBIH A3BIK 0 0 1,0 1 1
(anrmniickuit)
MaremaTHKa 1,0 [ 1,0 1 1,0 1 1,0 1 4
OKpy KaIONIHH MHP 1,01 1,0 1 0 1,0 1 3
TeXHOIOTHS 0 0 0 0 0
M306pasuTenbHOe 0 0 0 0 0
HCKYCCTBO
Mys3biKa 0 0 0 0 0
duzuHeckas KyJIbTypa 0 0 0 0 0
3 kacesl :
Pycckuii A3b1K 1,0 | 1 1,0 1 1,01 1 2,052 5
JIuTepaTypHOE YTEHHE 0 0 0 1,0 1 1
VHOCTpaHHBIH A3BIK 101 1 0,51 05 0 0,51 0,5 2
(anrmuitckuii)
MaremaTHKa 1,0 | 1 1,0 1 1,0} 1 1,0 1 4
Oxpy>Karoumi MHP 0 0 0 1,01 1 1
TeXHOIOTH 0 0 0 070
V306pasnTensHOe 0 0 0 0 0
HCKYCCTBO
My3eika 0 0 0 0 0
dusnYeckasn KyJIbTypa 0 0 0 0 0
4 xjaaccnpl
Pycckuii 361K 1,0 | 1 1,0 1 1,0 1 1,0 1 4
JIuTeparypHOE YTEeHHE 0 0 0 1,0 1 1




MHOCTpaHHBIH A3BIK 1,0 1 0,5 10,5 0 0,5 0,5 2
(aHTIHICKHIT)

MaremMaTHKa 1,0 it 1,01 1 1,0 1 1,01 1 4
Oxpyxaronmii Mup 1,0 | 1 1,0] 1 0 1,0 1 3
TexHOJOTHS 0 0 0 0 0
WM306pasuTenbroe 0 0 0 0 0
HCKYCCTBO

My3blka 0 0 0 0 0
dusuueckas KynasTypa 0 0 0 0 -0
OPKC3 0 0 0 0 0
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1 knacent
Pyccxkuii MBIk 0 0 0 0 1,0 1 1 3.0 165 1.8
JluTteparypuioc 4Tcunc 0 0 0 0 1,00 1 1 2.0 132 1,5
MaTeMaTIKa 0 0 0 0 1,0 1 1 3,0 132 23
OxpysKarounnii mip 0 (4] 0 0 10| 1 1 2,0 66 3,0
Texnonorus 0 0 0 0 0] 0 0.0 33 0,0
W3o0pasnTenbioe 1] 0 0 0 0 0 0,0 33 0.0
1ICKYCCTBO
Myabika 1) 0 0 0 0 0.0 33 0,0
@ir3nyeckas KynasTypa 0 0 0 0 0,0 66 0,0
2 Kilucenl
Pyceknii a3bik 1 1,0 1 1,0 I 1,0] 5 10,0 170 59
JTuTepaTypHoe 4TeHNE 0 0 0 1,0] 1 2,0 136 1,5
T HOCTPaHHbIH A3bIK 0 1,0 0 0.5 2,5 35 68 51
(aurmiiicikit)
Maremaritka 1 1,0 1,0 1 1,0 5 9,0 136 6,6
Oxpyxatountii Mip 0 0 0 1,0 1 4,0 68 5.9
Texnonorus 0 Q0 0 0 0,0 34 0.0
V306pasnTensHOC (4] (4] 0 (4] 0,0 34 0,0
HCKYCCTBO
My3bika 0 0 0 0 0,0 34 0.0
duaicckas KynbTypa 0 (1] 0 (\] 0,0 68 0,0
3 Kaacent
Pycekuil A3bIK 1| 1,0 2,0 |e52 20/ 2 7/ 12,0 170 7.1
JInTepatypHoe yTeHle 0 0 0 1,0 1 2,0 136 1.5
HHocTpanHELl A3bIK 0,5 (1] 0 0,5 2 4,0 68 59
(anrmuitexuit)
MatemaTiika 0 0 1,00 1 1 1,00 1 3 7,0 136 5,1
Oxpy:karouii Mip 0 0 0 0 1,0 1 s 2,0 68 2,9
Texnonorns 0 0 0 0 0 0 0.0 34 0,0
TM300pusnTensHoe 0 0 0 0 0 0 0,0 34 0,0
HCKyCeTio
My3bika 0 0 0 0 0 0.0 34 0,0
Duasueckan KyasTypa 0 0 0 0 0,0 68 0,0
4 raaccnt
Pycexnii 361k 1 1,0 2,0 1,0 [#23; 1,0 8 12,0 170 7,1
JliTcpaTtypHoc 9TCHNC 0 0 0 1,0! 1 2,0 136 1,5
liocTpanHlii A3bIK 0 05105 0 0.5 2 4,0 68 3.9
(anrmmiicknit)
Martcmatitka 1 1,0 1,0 1,0 1522; 1,00 1 6 10,0 136 7.4
Oxpyskalouuii Mip 0 0110 1,0 [is2 1] 3 6,0 68 8,8
Texuonorns 0 0 0 0 0 0,0 34 0,0
[306pasuTensioe 0 Q 0 0 0 0,0 34 0,0
IICKYCCTBO
My3sbika 0 0 0 0 0 0.0 34 0,0
du3iueckasn KynLTypa 0 0 00 0,0 68 0,0
OPKC3 0 0 0 0 0,0 34 0,0




